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Intro
Today we will 7"va learn 25 97 of mn2> noom.

The topics we will learn about include

NOR 5V 51 NOR PR 110’& '7)3 l’n 110’& ],R

One Issur cannot take effect on top of another Issur

oM MO - where subjects of the 170k were added -
More people become Assur to do this Issur.

5515 MR - where objects of MoX were added - More "T’D.‘D 110’ R

things or people become forbidden to the original person
or persons.
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So let's review

Zugt di Mishnah:

NYAR W PRIVI PR W

Two brothers, 7wnw1 12187 were married to two sisters, 513
7RD respectively,

T TIR 7Y

And one of the brothers, j21x3, died.

Rochel falls for Yibum to Shimon, but is 7109 because of
INWR MNX - she’s his wife Leah’s sister.

W SW INWR NI 2 NN

And then, Shimon’s wife, Leah died. Now, Rochel is no
longer Shimon'’s 1nwr mnx. Nevertheless,

PR PO AMOR NI

Although, generally, inwx mnx becomes 1M after nnn
1NN, Rochel remains 710K to Shimon forever - Shimon
can never marry Rochel.

IR YW PHY 770K PRIN

Since Rochel was MoK to Shimon at the time of 715793,
when she fell for Yibum, she became an 0ipna R5w AR NWR
mx», which remains forever.

This has already been mentioned several times in this
Masechta.

Zugt di Gemara:

9V X179'N

AR WK DWN 75D 270

OR MNR DWW

0P 127727

If Shimon did marry Rochel, he’s liable for both nx nwx
AND nwR minR.

IR PYHBY 27
7252 AR DWR DIWH ROR 271 1R
He's liable for X nwx only.

IMIR W’ RN RN

7253 TWR MR DWH ROR 271 10K

Another Braisa teaches that Rebbe Shimon holds that he’s
liable for TwX MmnX only?

The Gemara reconciles the two Braisos:

NWp RY

N RWI MR RWIW N2

T RWI D"NRI DD RWIV IR

The second Braisa is speaking of a case of

I RWI 32 IR RWI

When Shimon, the °n, first married Leah, Rochel became
TOX to Shimon as 1nwR MmnR. When Ruvain, the n», then
married Rochel, Rochel became Shimon’s nX NwR,
However, since

TOR 5V 51 NOR PR

The nx nwR Mo'R cannot take effect on top of MNR O
TUR,
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& =N When Ruvain
Y 1R then married
Rochel, she also
became Shimon’s
NN NWN.

When Shimon
married Leah,
Rochel became
DN to him as

mwr nnr. [ IRY N9

/L/OW@{/W, nce — rjot /f A 2jot //,e
The s10it ofp nt_rGt cannat take
o z‘o/b/ o% the son o% pY/ Y2
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. The first Braisa however, is speaking of a case of
T RWI T2 MR 1D RWI
Ruvain, the n», had first married Rochel, and she became
770K to Shimon as NR NwWR, When Shimon, the °m, then
married Leah, Rochel became ynwr mnr. However, since
NOR 5V S NOR PR
The nwx MNR MO'X cannot take effect on top of NWR MO'R
R

Upon which the Gemara asks: If so, that there is no 7o°R
TOR MNR,

M2 02NN

Let Shimon be M’Y abem Rochel, since in every Yibum
the MR NWR MO°R is overridden?

MR 27 IR
. RP15N RSP TWR MINR MOR

MR NWR NOR VPO R

57 TWR MR TR TIN

VPO RS PYM

Rav Ashi answers that the 7wR mnx 97o°R is pending - and
if we say that the nx nwx Mo’ is removed to allow Yibum,
the nwR MR Mo WILL be b, making her Wor. There-
fore, the R NWR TO°X cannot be removed.

The first Braisa however, is speaking of a case of
1 N2 T2 NN N Nl

When Shimon When Ruvain,
then married first married
Leah, Rochel Rochel,
became DR she became DR
to Shimon as to Shimon as
1NYN NINN NN DYN

However, since — sjot fy fh syot o
The sjor o% D0 _pipt canndt take
o z‘o/» 0”5 the syok o% . 2

2

If so, that there is no NWR MNR NDR
1012 D2 NN

Since in every Yibum the DN NWN DN is overridden

WN 29 N
Wi b DR N NN O
N NN O PPD N
SV N IS MO NN
ypp a9
The2D>)R  of NWN MNR is pending - and

if thenN NWN NDN is removed to allow Yibum
the nwn mNR N>R WILL be bn, making her 2pN
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The Gemara returns to analyze the opinion of Rebbe Y osi,
who in the first Braisa ruled

MR WX DWH 75V 271

TR MR DIWN)

Apparently, Rebbe Yosi holds

TIOR 5Y SN NOR

One Issur CAN take effect on top of another Issur.
However, this seems to be contradicted from the follow-
ing Braisa.

RN R

MY MY 12 W0 772D 72D

MR PTI

If one did an Aveirah which involves two o'y, for
which there are two types of 7 2 nn»», the Tanna
Kamma rules that he's given the more severe type of .
IR OP 127

PHY IR ANWRIT PR P

Rebbe Yosi says:

He’s given the nn'n of the 7o'k which came first.

The Braisa gives an example of one who did an 772 with
1mnn, his mother-in-law - which carries the more severe
'y, that of 799w - who was also an ¥R nWK, a married
woman - which carries the less severe nn'», that of pan.
Now, it depends which came first:

WR NWR IMWYN IMnN

NN PT3

If she became 1mnn first - she was a widow at the time she
became his mother-in-law - and then became an wR NWR,
by marrying a second husband - he’s judged for imnn.
NN VYN VR NUR

WR NWURINT)

If she was an WX NN - married at the time she became
1mnn - he's judged for WK NWR.

Apparently, Rebbe Yosi holds

MR Y 51 NOR PR

One Issur CANNOT take effect on top of another Issur.

AR IOVR

PO NO’RA OV I AT

Rebbe Yosi indeed holds moox 5y 5n mo'x pr. However,
where the second Issur adds the Issur upon more people,
we do say oR Hy Sn MovR.

Rashi points out that

IMNN DYYN YR NWRK IS not an 9o Mo, and therefore,
WR NWNR1A P73, the first Issur.

WR NWR PWYINIMNA IS an 0m NO'R, since as 1mn she
was forbidden only to him, and as w’x nwx she became
forbidden to everybody, and it is therefore 5n. Neverthe-
less, he’s

1MPN2 Pl - not because it's first - but because it's more
N, However, »1w3, he would indeed have to bring 'nw
mRON.
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If aman did an nay with his MOTHER-IN-LAW
who was also an WIR NWR
DYl 4

WIR NOR
Wy nMwyn
mnn WIR NN

N7 N7

WX NOURY  IMNN2

Apparently, Rebbe Yosi holds,
ot /7 I ot Vi

1mnn

AN MR
A0 MO O TN

When the second Issur
adds the Issur on more people
we do say MOR YV SN MO

WIR NOR 1mnn
1MNN NYWYNn WIR NOKR NWYN

not an i an
Q'a//«/ ot Q'a//«/ ot

1MMN2 N7
because it’s more syp

WR NWR2 N7
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However, regarding the first Braisa where Rebbe Yosi
ruled

MR DOR 0w 7Y 170

TOR TINR DO

The Gemara asks

P RWI MR M RWIT R AN

When Shimon first married Leah, Rochel became 71ox
only to Shimon as 1nwR MnR, she’s his wife's sister, but
she’s not MoK to his brothers.

However, when Ruvain then married Rochel, and Rochel

became Shimon'’s Nk nwK, Rochel became Mox to Shimon

AND to all other brothers of Ruvain. Therefore,
TR 7235 TR JOINRT 14D

77710 NOR GOINR

That is 01 37o°) - The Issur is upon more people.

T RWI 2"ARY I RWIT R RO
However, in the case where Ruvain first married Rochel,

and she became 770K to Shimon and all brothers as nR NWR

- When Shimon then married Leah, and Rochel became
INWR MR, which applies only to Shimon,

RYR 00 NOR RN

That is not o Wo°R. The second Issur is not upon more
people.
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When Ruvain NY 519
then married Rochel I

Rochel becomes Shimon’s nx NN,
Rochel became mor to Shimon
AND to all other brothers of Ruvain
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Y ou might say that there were people added to the Issur,
because as Nk NwR, only Rochel was 710X to Shimon and
his brothers, but other sisters were not 17ox. However,
when Shimon married Leah, Rochel AND all other sisters
became 77OR as TWR NINR?

However, the Gemara says;

R 5913 NOR K7

This is called 510 Mo'r - where objects of MR were
added - as in the case of TWX MNX TR on top of MO
nR NWR, where the same person, Shimon is 77OR in more

women - and the general rule remains, TOR Y 517 MOR PR,

Only in a case of 9O MR - where subjects of the Wo'R
were added - as in the case of TR NWX 7O°X on top of MOR
TWR MR, where more brothers become 7oR in the same
woman - do we say o°R H» 5n o,

If so, in the case of 1 Rw3 2"NN) N Rw3, where we have the
TR MINR T0°R on top of X NWR NO°R, which is merely
5915 Mo'R, why does Rebbe Yosi rule

AR DR DIWN 7P5Y 27N

TR MNR DWW

N27 IR ROR

JAY R PAIROR D

DIW WY 1R POV IR OVD
MR ROR 271 1°R)

71 RPOIRD

0PI DYWI PAARb -

Indeed, the second Issur is not 5r because v 51 MoK PR
Mo'r. However, that only means that he’s not liable for the
second Issur - But, it is still a transgression of two m7a.
Therefore, in this case, the word 21 means that if done
7103, he would be considered a greater yw3, to be buried
among others like him.
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When Shimon married Leah,
Rochel and all other sisters became MOR as
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where more /&eo/b/k where the same person
are 2/of  one wWormar @ 2/af v more wormen
we sy we
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NR NWR MWH NPHY 2N
NOR MNRXR D1VM
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2R ey YWD 1HY N mbpn
o e R
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This only means that he’s not liable
for the second Issur
But, it is still a transgression of two M2y
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The Sugya of o) 5» 51 MO°X PR continues here, and is
also discussed extensively many times in Shas. However,
before we continue, let's review the various opinions in
this Daf:

As explained, "oy "11 generally holds 7o'k H» 51 1oR PR,
with the exception of 901 WO°R where we say Y b1 Wo'R
MNOR.

PYPW 117 in the Braisa of nX nwRy 7wR mnX holds MoR PR
MOR 5Y S even in 9OM TOR,

The x»p Rin of the Braisa of 1mnn holds mooR Sy Sn Mo
even where it is NOT qom T7o°R.

The Gemara continues;

R0

There is actually a ’RIBR NPT

OP 97 RIOR1 5510 IoRa

In the opinion of "o *17 regarding 515 Tox:
AN 271 5510 MoK 'O 227 720 K112

He holds 17o'r Sy 50 vo'R

RTM ROR 27171 KD 920 R19p 72

He holds 7o°R 5p 50 1o'R PR

The Gemara cites three cases in which we find this
Machlokes:

One -

NIWIVPVY N

A non-Kohen did the 7712 on Shabbos.

771202 MORI TIRIB W RIPIVD

During the week he only had one Issur, 7t o'x - He may
not do the Avodah.

PIw 15 RNR

Now, on Shabbos he has a second Issur, 7ox5» 7o°R - He
may not do Melachah on Shabbos.

719R51A JOND RPT D

1712211 YoM

This is an 595 O’R, because this person became MOR in
additional things. It is not 9o MoK, because additional
people did not become n712v2 MOR. Therefore,

DNW 271 IR K71 737

NAR ROR 277 PR IR RIOP 72
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The Gemara cites three cases

in which we find this Machlokes

D2 W

naw 15 NN
NI DN NPT
MRS A3 10N

5)3/_’% yor

1
NP
MoONMD Y
M NON

NS Aot

He not do He may not Ao
W%/u the Avoduh
on Shabbos

9915 MO

Because this person became 2DR
in additional things

AN NIBP 2

NRN XON 277 PN

N N9

QN 2N
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Two -

ARV VWY O Y3

12982 RIPVD

771202 OR)

As aombya, he is 70R to do the Avodah, but he is 3mn» to
eat from the Korbonos.

72PN

Now, that he became Tamei, he is MOR to eat as well.
127382 701D RPT 1D

17122 11 700D

This too is an 551 MO'R, because this person became 7oK
in additional things. Therefore,

DNW 277 IR R 727

AR ROR 277 PR MR RI9P 72

Three -

1750 SoRw

A non-Kohen ate from a 91771 129p. He did two omorx:
-1- A 9t may not eat from Korbonos.

-2- For a 7, this bird is 7521,

However, the Gemara asks; this case,

15 INOWNT X7 NAR N33

15 nnown RS 5510 iorRa

These two o mo°r did not come one after another, but
simultaneously when 1’5 was performed.

Therefore, the Gemara answers;

7359p ROR

0P "7 RTHRI DR 122 O°R2

TN 271D AR N2 70K °01 727 7920 K71 1)
R ROR 2711 RY 920 RI9) 72

This is explained in the next Daf.

DafHachaim.org
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5915 MO

Because this person became DR
in additional things

AN KD 2

NN RON 20 18

MR N9

QN 2%

Yo DNy
A non-Kohen ate from a myn 129p

Forant A9t may not
this bird is eat from
nv2) Korbonos

The Gemara asks...
M5 ARSI N AN Na3
M5 ARy 85 551 NoNa
>

"HMap NON
'O 17 82HX ANK N33 MO

930 875p 93 220 N™M Y39
A NY DY AAN N2 MO Y a0
NTM NON NN 2V
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